

MEETING MINUTES

Location:	Zoom
Date:	8 April 2025
Time:	7PM

MEETING DETAILS

I. ATTENDEES:

Georgi Cavendish (Seneschal) Leisel Thomas (Reeve) Luke Davidson-Black (Baron) Victoria Davidson-Black (Baroness) Lauren Plant (A&S Officer) Seth Sebastion Addy Lewis (Hospitaller) Gabrielle Butler (Webwright) Deagon Lexie Leia David Linda Katie Kirstie **APOLOGIES:** Jacqui McGarry (Chirurgeon)

Meeting commenced: 7.01pm

II. INTRODUCTIONS

Prior minutes approved.

March 2025 meeting minutes, proposed by Leisel to be accepted seconded by Victoria.

Officers' reports

Seneschal

We are still seeking a new Seneschal and A&S officer. We have until 1 May to fill both roles or the Barony will face going into abeyance. At this stage, we have a couple of possible applicants for both roles. This is my last meeting as Seneschal.

Reeve

Current balance: \$28080.96

Payments made: Bridge Club outstanding

Herald

No report

Hospitaller

Consistent numbers on Monday night.

Webwright

B&B Changeover work has been done as directed.

Heavy

No report

Rapier

Quote for gorgets and jackets for loan gear – this will round out the kit with all that is needed. Quote expected for next meeting.

Archery

Nothing to report

A&S

A&S online continues, as does the search for a new A&S officer.

Chirurgeon

No report

Action	Responsible person	This month's update	Status
Future of Great Northern War Shipping Container	Seneschal	Details in Seneschal report	In progress

III. BARONIAL BEAUTIFICATION PROJECTS

Action	Responsible person	This month's update	Status
Shade Tents			Not started
New Thrones	Seneschal	Katie has painted thrones	completed
Champion Tabards		Branwen is started on this to deliver for GNW	In progress
Champion cloak			Not started
Marshal poles			Completed
Banner poles and holes			Not started
Tourney field bunting			Not started

IV. NEW BUSINESS

GNW Gas pipes

Magnus has provided costings to change the GNW gas pipes used for the Fire Tourney.

Estimated costs \$320, includes \$97 materials, \$100 consumables and \$120 for 3 new regulators.

This will have the gas pipes in 2m lengths, which make them more transportable to and from site.

Proposed by Georgi, seconded by Gabrielle.

Archery Target

The archers would like to purchase a long last 3D archery target for improved aim etc on the range. Cost is \$390 plus shipping. Is similar to the goat and pig they currently have which are quite worn.

Proposed by Jyoti, seconded by Katie.

V. EVENT PROPOSALS

Bottony Cross event – Steward David Aryis

Event overview

The annual Bottony Cross team melee tournament and feast to be held at the Brisbane Bridge Club.

Timeline

Date: 5 July 2025

Setup: 12:00pm

Gates open: 12:30pm

Opening Court: 1:00pm

Tournaments (in included):

Armoured Combat: 1:30pm

Other activities (if included)

Feast: 5:00pm

Closing court: B&B's discretion

Pack down: 8:00pm

Event costings

Member/non member pricing

Ticket type	Price
Adult Member Onboard	\$22.00
Adult Member Off-board	\$10.00
Youth Member Onboard	\$10.00
Youth Member Off-board	Free
Child Member (Under 12)	Free
Non-Member Insurance (add- on)	\$10.00

Cost breakdown

Fixed Costs				
Item	Description	Unit Cost	Quantity	Total
Hall Hire	Brisbane Bridge Centre, Annerley	\$150.00	1	\$150.00
Sundries	Random emergency funds	\$50.00	1	\$50.00
Victory Tokens	Traditional tokens	\$5.00	3	\$15.00
Free Entry	Entry costs covered for B&B, Crown, Steward & Feastocrat	\$12.00	4	\$48.00

Variable Costs				
Item	Description	Unit Cost	Quantity	Total
Food	Tavern feast	\$10.00	40	\$400.00
Event Token	[not necessary, but nice to have]	\$0.50	40	\$20.00
Kingdom Levy	Paid per adult per day	\$1.10	40	\$44.00

Breakeven

# of Adult Members		Profit Margin	
	37	\$3.00	

Proposed by: David Seconded by Nicola – approved!

VI. CONCLUSION

Meeting closed at 7.36pm. Next meeting will be held 13 May 2025 at 7pm